Examen de Matematicas 4° de ESO
Noviembre 2008

Resolver las siguientes ecuaciones y sistemas:

Problema 1

2log(x +1) —logx =1

Solucion:

12
log<(x+)> =logl0 = 2°> -8z +1=0—
Xz

x=0,127
x=17,873

Problema 2
Solucion:
3% t t =0,63557
z\2 _ Y — 2 v — 3
3(3%) g1 0= 3t 3 1 0:>{ { — _0, 524461
t=0,63557 = 3* = x = —0,41255
t = —0,524461 = 3* = No Vale
Problema 3
2log(zy) =3
T
og () =
Solucion:

—

2logz+ 2logy = 3 N 2u+ 2v= 3
logx— 2logy= 5 u— 2v= 5

u=logx =8/3 = x = 464, 1588
v=logy=-7/6 =y =0,068129

Problema 4

324 2w =1
2+ 3.2V =5



Solucion:

3* u
9 9

e e
354+ 3.2 =5 u+ 3v =5

Problema 5

Solucion:
3r—34+2<30+5x+5= x> -38 = [-38,0)

Problema 6
22 + 3z — 40 -0
T — 2 -

Solucion:
2?43z —-40  (z+8)(zx—5) -0

T — 2 xr—2 -

(—o00,—8) | (—8,2) | (2,5) | (5,00)
x+8 — + + +
T —2 - - - +
T—9 — — — +
el e

La solucién es: [—8,2) U [5, 00)

Problema 7
204+ 3y =>12
z— 2y <1
Solucion:
|y
2¢+3y=12=— 0|4
60



1 0
20+ 3y =12 | z=27/7
{ - 2% =1 { y = 10/7 = (27/7,10/7)

(27T

x+Iy=12

)

Problema 8
Vdr+1—-1==x
Solucion:

Viz+l=z+1=4dz+1=2*42z+1Ve =2’ -20=—=2=0, z=2
Problema 9

Vr+3—+vzr=1
Solucién:
V43P =1+V2) =z2+3=14+2+2Vc=0= 1=z
z=1

z = —1 No Vale
Problema 10
2t — 8022 —81=0

Solucion:

Hacemos z = 22 = 2> =802z —81=0= 2 =81 y 2 = —1.
z=8l=2? = =19
z = —1= 2% No Vale



